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Question Nos. 1 to 100 have four optzons, out of which only one is
correct. Answer ‘any 50 questzons You ha

80 x 1 =50

ve to mark your selected
optzononthe OMR sheet. - =~ e - 50%1=50 -
L. A={],2, 3}, B= {2 3 7}=> AUB-; {

(A) {123} ;;_,() {137}

© (1,23 7} " @ (2,7}

2. Xs= {357},Y_ {235}=>an-- '
DAY 82y ( )i {3 7} M
©) {57} i :_. () {35} '_
3. .X= {1 2},Y {2 3 5} z= {4 6}=> quuz—j_
(A) {12356} () {23456}
© - {123456} () (1,2 o T
4,  X= {1 -2, 3 6},Y {4 5 6},Z {4, 2 3 6} = (XUY)ﬂZ._
() {2, 3,4, 6} jv'_'(B)‘v. (1557 e e
€5 11, 2,8Y i f T DI, 258059
S. " X= {a,b cd}, Y= {c a,r},Z {r,o,b}:(XﬂY)UZ-
' (A) {abc,o,r} ) (B) {c,a,r,b}
© {rnrob,c} Frertbl (DY ~
6. A A={x:xeN T (x- 2)(x 3)=0}a‘tn(A)_ *
B 2 i, '®) 3

€)1 o g P4
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. IfA={x: xeN and (x-2) (x- 3) O}thenn(A)
BeiZiihie e ). s
€ 1 PR (DY A e

{7} aﬁ‘X={x:xeNm'-xm'm%'}an(x);
(A) 10 PR B) 100 :
(@ ¥lb00, L ih e pry

7 IfX {x xeN andxlsprlmenumber}then n(X)-‘

(A).,. 100 7 e BN 00 s
i (C) 1000 s (D) none of these .
8 i A e 2 —-4}=>A— g e
s (Aeay ey T oy

(C ) {27 4} , " LA D)L {_’.2,_4.‘}. o
9. - A={x: x'—5x+6 0}=>A- 'A"',

W e e 6}

@ (-2-3) b Rd ey
10,7 X= kgt 3= 0}=>x-st,‘ i -f ,,
A A3y e b e

(Q A8=1) ) ,{-3-1}'['_ |

B gy PARN S
. 5 ¥ ’ . YA
1\ Wi s ke
y < iR e
3.t
-v'«> '..
w'

["11". X= {x 9x —6x+1 O}=>X__ ‘
,,'.’12.’ A {x x- 2 0},B {x 2x=6}=> AUB

V(A)' {2, 6} TN @) (= 2,6)
@ (2 3} G ) e PR

le[~

—r >
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13. A={x X —4x=0y 4 _ [121/327]

A) {0, 4}

© {0,243 B (0,2,-2)

A (D) {0,4,-4)
14. A={x :x +2x+1=0},B;{ xX:x

- =—1}=
A) {AzB) B) {BeA}
(C) A=B '» (D) A=B
15. A= {x:X* +5x46 =0}, B={x:x +8x + 150} =
(A) AcB . B Bca
(C) A=B . (D) ANB={-3}

feamgam e % U=(1,2,3,....,15},4=(1,2, 3,5, 15},
B={2,4,6,8,10,12',14}a2nc={2,3,5,7,11;13}.
9 T TS 16 ¥ 25 aF F IW I | A

Given that U=1{1,2, 3, ......, 15}, A={1,2,3,5,15},

B={2,4,6,8, 10,12, 14}and C={2,3,5,7, 11, 13}.
Now answer the Question Nos. 16 to 25. ‘ ‘

16. AZBi=
(A) {1,2,3,5} : B) {1,3,5,15}
(C) {2} ' - D) {2,3,5,15)
17482 C = |
(&) {4,6,8,10,12,14} B) {3,5,7,11,13}
€ {2} (D) {4,6,13}

18. C-A=
@A) {1,235}
(©) {3,7,11,13}
19. B-A=
(A) {4,6, 8, 10, 12, 14}
C) {46 15}

®) {1,2,7,11,13}
(D) (7,11,13)

B) {1,3,5, 15}
(D) ¢
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. "20.
21.

22.

23

‘"25.

Ve "//'

C- B"‘
A (3,5,7,13)

(€ {8,5,7,11,13}

A-C="
). {2,3,5)
€ {1,5,15}

A'—

(B) {3,5,7,2,13} ,

D) ¢

B (1,2,3,5)
D) {1,15)

(A) {46789101211 1314}

(B) {4,6,8, 10,12, 14}

) {8, 10 12 14}
(D) 52 |
BI

(A) {1’3 5 7 11 13}

(C) {1 3 5 7 9 11, 13 15} (D) ¢

©) {1689 12}

(D) b
(A= B)ﬂC- j

W) sy (C) {3 5} (b")"f{'r,'n)

(A) {1468910121415}
B {468912 14}

(x 2 11) —(5 11)=>x—- ',

(A) B (B) i

S

(C) 9.0 i himy T e

B 90et ey 120017 7(D) (360°

(B) {2 3 5 7 11, 13, 15}
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%radian = ; :3 [’ 121/327] i
(a) 180° ®) oo

8. A= (1,2}, B= {3}=>A><B-
A) {1,2,3) '
© ((L3),(2,3))

0 e aas, el

(B) {(1 3) (2 3) 1 2)}
(D) {(1,2),(3, 1)}

20. FRA= {a’b}»B {c d}a’rA@rBﬁwu‘Tﬁm—“

(A) " B o B) 16 (c:) 32 (D) 64
If A={ a, b},

Ato B..‘,,_.‘ ,

I { C d } then the number of relatlons from kit

30. i S R

(B e D)

o

| sm( “x) .
cosx B O B R S it
"‘;(A) tanx A (.B'),—_t,anfé'cj_-'w_(‘C){-1 S (D) ] e
” COS( )C)= ‘ i SO s oy SR
cosx f, SN A :
(A) an o o @)y tan il MG L ¢k (D)l b
35 -“_____.tant X)) LT
(A) secx 11 (B) ~secx (C) —.cosx (D) cosgiii
"1/11/B-4007 | . Page7/24
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A) La ( | 3L_ (C) 16
.aratﬁw 24x< 100 x wm

(A) {01234}

l'?"(D) 4

(A) Ax+B<0 f f;j.;('ié)y

'Wh1ch of the followmg is not an mcquality ?

(D)

(4) Ax+B<0 (B) Ax+Bzo;]'
© Ax+BsS D) Ax+B=S5

[121/327}

b d
128

s

(D) 2L_.

m% Emzaagaw%
e i

ey Ax+Bz 0
'(C) Ax+Bss (D) Ax+B=5' ‘

B ) !

I/11/B -4007.

£ord
¥ Lol
'Page 9 /24
O, BB r“,’,"‘ o



[121/327]

36

37.

38.

39.

"~ 40.

- 41,

44,

~ (A) sin 3x

sin 2x =

cos2x=

1+tan2x.

‘4sin®

'1—tan2x &

2tan x

| (A) tan2x

x—3Sinx =iy,

| (B) cos 3x

(B) '¢o’t 2%

2 + 3i T ARAH W =

Q) 2 i
Re'alp.‘art.of'z+3i='_ N
By s
6i— 5 Fl PR M=
(RS T ) o s
Imaginary part of 6i-5= :‘

@ 2

® 3

A (B) 2 tan x

' 1-tan?

X

2tanx 1+tan® x

" (A) " 2 sinx cosx (B) sinx cosxt (€) ——5— D) Htanx

1+tan” x

(C)
1+tan? x 1-tan? x

(C) —cos3x (D) —sindx

(C) cos2x . (D) sin2x

; \(C

Wier ) 5.

4 X .

g6 De

(©le D)6

1 -tan? x i 14 tan? x

()4 )
42, wiea LA e e
| (A) '8, B) 4 i (©) 5 (D) T
43, 0= i | o
(A) 1 B e (G D) -
(A, 57 By~ © 1 (D -l
Dy A0 ara e ..A-_ T — =~ 7 A
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51. cos(A-B)=

(A) cosA- COSB ‘

(B) cosAcosB+s1nA s1nB -'

(C) cos A cos B sm Asin B

(D) cos A sin B sin A cos B
52. ‘sm(A+B)+sm(A B) . _
(A) 231nA smB o . (B) 2s1nA cosB' ‘
(C) 2cos A cosB (D) 2cosA sinB
cos(A+B)+cos(A B) — b b .
(A) 200sAs1nB S (B) 2cosAcosB £
(C) 281nAsmB (D) 231nAcosB"
sin(A+B)= T S 0 e T
m)mA&mB ‘
(B) sin A cos B + cosAsm Bl L
(C) sin Asin B+ cos A cos B " ' e
(D) smAcosB cosAsmB Cal .'

@ o (B)l i © 11-',' (D) 121

(A) 1 (B 0 s © A oY
1213»= £ i IS B e e B LM O

."(A) 121 (B) 143 o (C) 132 ._ (VD)\;.12

® 60 (B) 120 ‘(C))lso'D( ujjizo'



62.

s

2022 gloe =

(A) 2025 B) o
C
sc ©) 1 (D)
0
A B) 1 © 2025 (p
FAR AR 8, 15,99 H A 3w 2
(A) 8 (B) 15 © 22 - D)
The common difference of the A.P. 8, 15, 22 048
(@), :8 - B 15 © 22  (p
& T | 12 31 15 %1 wwiee meg 2 o
A 13 . B 135 C) 145 (D)
The arithmetic mean of two numbers 12 and 15 is
(A) 13 (B) 135 (C) 145 (D)
¥R A0 5, 13, 21,29, ... F 154w}
(A) 113 B) 115 () 116 (D)
- The 15th term of the A.P. 5, 13, 21, 29, ... is
(&) 113 (B) 115 (C) 116 (D)
2+4+6+‘....+1'6'=“. . | 4
(A) 36 (B) 72,‘ (C) 108 (D)
ToiTeR At & 9’ 27 81 243’ FHE SR
A L @t gess D)

The common ratio of the geometrical progression

1L il e '1,...is.
9’ 27’ 81’ 243

w1 @3 © -3 B}

[121/327
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14
14
117
117

144
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6. TR dvft 1, 5, 25, 125, . aﬂloaﬂa% |
‘ Foriiy i L1278
(AYIRSP it ® 51° ity sk el (D)5
The 10th term of the geometrlcal progressmn 1, 5,25, 125, ...
s st e 5“ @ 5%
67. 44aﬂi11a:rgvhmmw%_ 4
@) 275 (B 25 (©)is8 i (D) 22
The geometncal mean of 44 and 11 1s o e
A A 2R e (B oSl (OyiBs T D) . 22
68. -ﬁ@ﬁ(S 2)aﬁt(7 2)ﬁ@waﬁwﬁ%@1ﬁm%
A (A) oA ey B (O 4 Yooy =1 g ,
The slope of the 11ne passmg through the. pomts (3, - -2) and
: (A) 0L BT o o (D) g

Tt YT 4% - Sy 20 = omy-aamm@e%
(A) 4 i (B) e s D) -5

‘, The 1ntercept on the y—ax1s of the stralght hne 4x - 5y - 20 0

B s 0 )
R+ '(B)“—'"4"f" (C) oy al o
700 g (6, 7)ami@1 3x+4y+9 om@ﬁmmﬁaﬁlﬁ% 1
B . :
L (© o o Dy e 1
" The length of the perpendlcular drawn from the pomt (6,7)on g
- the stralght line 3x+4y+9 Ois 1
,',.."}(A) 5 o (BYE ‘ﬁ . :
, € 9 e e ey (D) none of these - o

; ' [/11/B4007 | Page12/ 2%
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73.

74,

T8,

@ﬁ%ﬁwa-7y;ilaﬁ®% w219 327
11 ' .

(A) _8—5— (B) llm 11J§'5‘
di tan' f the Y s ;88
The distance of the 1j 3 -
. Ine 6x-7y =11 from origin is
11 ,
T (B) 11J85 11485

m%@wﬁ 4x-3y="7 W 4x-3y_—_12 %iﬁaﬁ{ﬁ%

A) 1 B) 5 (C) 12 (D) 19
The d1stance between the straight lines 4x-3y=7 and
4x-3yYy=12 is

@ 1 B S Ay 1a i oya9.
30 x2 +y> =256 =@ |
A) 16 B) 32 - (C) 8 (D) 64

The diameter of the circle x2 + y_2 =256 is

Wihie e iB)isa e 8 (D) 64
|5i=12]= ‘& |
(A) -7 (B) 13 © 17 (D) 19

I x2-+y2 =9 Wav':?{ %

(A1 (9,07 i(B) (%) (© (9,9) © (0.0)
The centre of the circle X2 +Y 229 Ais | ‘
@ (0,9) (© (59) (D) (0,0)

A) (9,0)
m&mamwmm%?

(&) ~x2--.--4ay | (B) x=4ay
(C) 4y+x=cC . (D) x2 +4y? =c

~— T 1/11/B-4007_| Page 13 / 24
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| Which of the following is an equation of a parabola P
(A) x2=4ay‘ My (B) x=. 4ay
- (C) 4y+x=c - (D) x+y.—c
77, . ——1%8331&1@[?@&%
16 2
(a) 4 BB Qg (D10
B LG R I e
The length of the minOr axis of the ellipse =— ] 6 Xl 257 =11is
W 4 Rty (e E s (D)0
78, ~ﬁnaﬁﬁﬁ§aiiaﬁq:ﬂﬁmvmaaisraﬂtsun?§? E
Gt g e 1_' 2 ?“ e
R XegAnYs o (0 G i - B
WY fleiasi b i B 16 25 -
WLl e s e ‘
(C) T6——'§g=1 S 3 ( ) x 4ay ”
Wthh of the followmg is the equatlon of a hyperbola P
(A) {6 * 25 1 B T6 _,25 1
(C) 16~ 25 =1 it (D) x= 4ay
ﬁﬁéﬁhreamﬂ% qgfﬁﬁg%sﬁﬂmﬁsé:
A )
@ (0,0) (B (o o 0)
© (0,0,0,0) (D)(00000)
The coordinates of orlgm in three d1mens1onal geometry are
()15(0,0.) | (B) (0,0,0) WA
© (0,0,0,0) (D) (0,0,0,0,0)
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85.

@A s

ﬁ%’?:ﬁ‘(z_, 3,"'5)32;1_(4) 1) % e o [121/3’27]

A) V5 - B 25 (¢ 345 u»vs
Th,e dlstance between the points ( 2, 3 5) and ( 4, 3 1)is -
Aa) V5 (B) 245 (C) 345 (D) 5

Rrgefl (4,6,8) 7 (-8, 6, - 4)aﬁﬁsﬁareﬁ%@1%nwﬁ§% '
RILE S %
(A) (O 0 0) (B) it 202)

(€ (2,0,-2) | _(m(zom

The co- ordlnates of the m1d-po1nt of the hne Jommg the pomts
(4,6,8)and (-8,-6,- S aYidrel e T e S
(A)F10,.0,0) 7 o (B) (£ 202) 4
(C)»(’z,‘o,—z)-" Fabmiserea)

;1_‘3‘2 (4x +2x)

chlm‘t(1+x +x2+ +x°)—~" | ;
(A) 10 (B) 11 ’ (C) 12 .,:‘ "-;(Dv) »9-& Pt

limit (7x —2x +4x+9)—

B 7 (C)9 (D’“

s ’(B) 4
(D)sﬁiﬁfﬁﬁﬂﬁ

ST e ' ——— e | ,M Pagc 15/24
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Crimaes(s =2 et
x—>2/ x*-4) ‘ _‘
Ay SOl R (B ‘
(C) % i ‘ ; (D) n‘oner Qf these -

: limit sin x
8.6' x=>0 X

N 1

W
87 cos26— S | i
W? E e i ol e

88. (x +25x ) =

i ,"-‘(A), 2% (B) 25" ) 2k 25, (D)0
89..» .d‘x/v(.'tanx)‘

f",""(A) vseéx (B) cotx '(C) .cot2x" ] (D)acczx

90. d—d- ( 4cosx + smx)

| ,f(A) cosx dasing o0 0 (B)Y cosx — 4smx

‘
ok {

(C) - cosx + 4s1nx 0 (D) - cos X = 4 smx

) =L L 92 =2
x2 oo ( ) X2 L '(-D) x?
1873911215216%%% 4

() 19 B) 18 o) 177 . (D) 16
The ranige of 18,7, 3, o, 11,2,1,5,2,16is

@ 13 B 18 ‘_‘(C) 17 - (D) 16

| | fs -1/11/Bf4007 G | Page 16/5";




. “ 4 1 i
amﬁ@m%mmwmﬁmeﬁ%{;zn
B2 R QL8 (mt e

T X |
he number of elements in the sample space obtamed m the

sly is

throw of two coms samultaneou
A) 2 " (B)

: Togd ‘ (D) 36 i
@qﬁﬁmmm7aﬁﬁmﬁm% i

AR

| The probablhty of gettlng the d1g1t 7 1n the throw of a d1e is

A) sinX - (B) f"—sm-é-... (C) \—sm-gif (D) -‘_ggi%

T T o
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& 1 ,t" Ln . |
99, xlf:llo [___ ( x -.2 ) ] | |
(A), 10 " (B) 20 ;. (C)" 50 (D) 100

el -dg—- (cosecx )=

‘ (A) cot2 (B) L cosecx cotx
i AL Dy [
(C) -,cot2x ' -[ it ol (D) cosecx COUC

'G'UE' ET / SECTION B

¢ \ ‘ j"‘“,'.';ir" 1

Hg Wﬁ“' W / Short Answer Type Questions
| mm 1# 3oawag3m?zra‘l$=r##fam? 15377#6)5‘3?7?%/ yaia.-
ewv%%vzwrﬁW%ﬁ, ﬁ*»h&jw»w:,yzsx2=‘

_'WBAmﬁl
.9’?eHA{h08p,
A BandB At
HQ,Z_HQLL'{IQ 3‘*5'67*8J5LJ?;Qi»Qf3!;'mm
B= {2468}m(AUB)'m$}I T } |
HU{123456789L

B = {2 4 6 B}thenﬁnd (AUB)’

If ( £+1 ..'.g.)- 5 L | B i
3 Y- 3 ..( 3 -é-) then ﬁnd the values of x a.nd




